FB5.1

1)

2)

3)

4)

5)

Work out Z of £72

Solve 3x — 5 = —-35

Find 20% of £760

: . 2
Express as an improper fraction 5 3

Work out 8.27 + 100



FB5.2
1)  Expand 5(3 — 2x)

2)  Workout12 — 3 x 22

3)  Find the sum of £3.64, £4.82 and 34p

4)  Round 3962 to the nearest 100

5) Complete 7030 cm = ............... m



FB5.3

1)

2)

3)

4)

5)

Work out % of £84

Solve 4x + 15 = 35

Find 20% of £360

. 20
Express as a mixed number -

Work out 0.35 + 10

he=dd



FB5.4
1)  Expand 6(3 — 4x)

2)  Work out 50 — (3 x 2)2

3)  Find the sum of £2.85, £5.95 and 63p

4)  Round 2938 to the nearest 100

5) Complete 7030 m = ............... km

T
B



FB5.5

1)

2)

3)

4)

5)

Work out g of £45

Solve 8 + 2x = —16

Find 20% of £75

. . 3
Express as an improper fraction 5 "

Work out 0.12 + 100



FB5.6 EEHE
ik
1) Expand 4(3x — 4) IE-

2) Workout20+2+3 x4

3)  How much change would you get from £10 if you spent

£2.75, £3.15 and 75p

4)  Round 12345 to the nearest 100

5) Complete 0.35km = ............... m
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